INSTRUCTION MANUAL

RS

SINGLE SPEED
VERTICAL BANDSAW

- ¢o

. RSt N

EAD THE INSTRUCTIONS
CAREFULLY BEFCHE
USING THIS PRODUCT

%é | mPORTANT
Jl X%$©

{
A.L.T. Saws & Spares Ltd

Startrite Machine Specialist
Unit®s, Pier Road Industrie! Estate
Glitingham
Kent
MET IRZ

Tel/Fax: 01634 850833
leei@altsawsandspares.com
www.alisawsandspares.co.uk

CHIM - 2



CONTENTS

PAGE

4

5

14

15

\ie

0 tg
20
2p

25

DESCRIPTION
General arrangemeant

Specification and standargd/optional
squipment

Healh and safety advice

Handling. transportation and fixing
Conneclion of the eleciricity supply
Connaclion to a dust axtraction systam

Setting and operating insiructions

Matnten @

tension selaction

0

Bandsawing practice
Common sawing problems
Wiring diagram

Parts lists

Oplional equipment

Adjusting the
Heplaclng
Fittin

Adjusting table 1l a %
Adjusting blade

packing

guide adjusiment
Adjustment of rip tence
Using the depth stop {optionat)
Using the milre gauge {optional)
Using the circle cutting
attachmeni {oplional}
Starting and sawing
Siopping

Seleclion of tooth pitch
Selection of tooth form
Zelection of tooth sat
Selection of blade tension



GENERAL ARRANGEMENT

Tension indicator
Start/stop switch
Blade brush

Stand {optional)
Dust exlraction porl
Lowar blade guard

12
13
14
15
16

Uppar blade quard

Elade tansion adjustaer
Blade guide adjustmen lock
Blade tracking adjustar
Ralngserial number labsl
Table insert



SPECIFICATION STANDARD/OPTIONAL EQUIPMENT

Electrical Supply 1 phase 230V 50Hz Reversible np tence .
Motor Power (kW) 0.35 Blade L
Current (A 2.8 Insirugtian manual .
Rating [nt. TEFY Tools ]
Motor spead r/min 930 Depth stop o
Slopping lime  {secs) <10 Miire fence u
Height under Circle cutting attachment o
guides {mm) 205 Stand o
Throal depth {mm} 295

Blade speed {m/min) 880

Biade length {mm) 2362
Min blade width {mm} 3 & standard equipment

Max blade width {mm} 12 o optional equipment

Band whesl

diamster {mm} 305

Table size {mm) 500 x 485

Table 1l angle  {*} 0-45

Weighl {ka) 55 approx.

Sound powet”™  (dbA} < 90 %
720

1120

435

| enrrul I
_____ plos o Svutls oo s
N

Optional stand

— r -
vo |:] 450 | | 210 l| T
Fixzl izn
Cerl'ﬁ:fs |. lcF;rg| %i
|

Al imaongions are 0 mm and are aporesdmale.
Cwa o the pabey ol conlinuous product improvemeni spasilisalon may changa withoul nofice

* Thi sound powear leyals gualed ara emssion lavals and ara nod necassanily working levels. Whilst lhare is a conalaiion batwaean amianion
jovale and exposurs levels, 1D cEANGE bo used refiably 1o determine whalaher or not furiher precauiians are raquired. Factars that Inthenes
the aclual lgval ol exposure of Ihe wark forea Include tha duration of exposura, the charactanstics ol the wark reom, and ciher sgurcas of
noiss, Aso permissabe expasure levels can vary irom couniry 10 country, Howavar, lus information will enabla the usar of the maghing to
make a beller evaluanon ol ihe hazard and righ,

5



HEALTH AND SAFETY ADVICE

Read ths instructions carelully before using this product.

This magching should be bolted down to a rigid, stable structure at a comloriable working height
in a well lit, well ventilated, unclutlered area with a nan slippery lloaor.

The machine is isolated by disconnecting Ihe plug from the power supply. Ensure (hat the plug
15 easily accessible tor quick remaoval, and beware of the risk of tripping over the cablg or Ihe
dust extraction hose when fitted.

Avoid wearing loose clothing, lias, oose sleevas et

Long hair should be covered or tied back,

Eve proiaction should be worn when operaling this machine. E;
It is always advisable to wear ear prolection. and il is esseniial when cutting resonatin teri

als.

We strongly recommend the use of a dusi extractor and visor,
When a dusl exiractor is not vsed, always use a dusl mask when operatin
machine. The fine particle dust preduced in sawing operalions of most
hardwpods and asbeslios can be a health hazard. A porl is provid n
connaclion of a suitable extractar, our Customer Service Depart i
you on the carract unit for your needs.

~particularty
chine for the
e happy to advise

Before opening either of the bandwheel doars, is th hine by unplugging from
the mains.
Never run the machine with the door open.

Ensure that the blade is suilable for the w 2 Undartaken.

Do not use blades which have bac

Avaid touching a hot blade i
Always use gloves when

Always lower the upp juide ¢ guard assembly as close as possible to the workpiece.
The lower blade e vards should be positicned as close as praclical to \he underside
ot the table.

Used shséick provided when working closa to the blade.
Never plage the lingers in line wilh the blade.
sute éhe pushstick is within reach before starting a cut,

re attermpting to release jammed material / blade, switch oft and disconnect Irom the
owaer supply.
Disconnaect trom the power supply before making any adjustments or ¢leaning Ihe machine.
Mever lagve the machine running when not in use.
Do not expose to ram or use in damp locations.

This machine is not suitable tor use in polentially explosive environmenis,

Cultivate sate working habits by practising the abaove mentioned safety measures.



HANDLING, TRANSPORTATION AND FIXING

Damage caused by incarrect handling, transportation or installation may invalidate the guaran-
lee. Consequently if in doubt about the safe handling or installation of the machine obtain the
services of a compstent technician, contagt STARTRITE CUSTOMER SUPPORT, or contact the
organisation from which the maching was purchased.

When transponting this machine do not strap across the table or over the top of the machine (see
fig 2a and 2b). Always locate retaining straps over the lower wheel box beneath the table (tig 2¢).

Fig 2a ‘l Fig 2b Fig 2¢ = ‘

X X

To minimise the risk of damage it is recommended that the ma-
chine be transporied with the table detached. The table is fixed
to the machine by means of a locating stud and retainin
(see fig 3). As the table mounting stug and cradle are fa
set it is only necessary to position the table over (

stud and secure it by tightening the retaining nut @ 3 :
nar provided. \/
When moving and positioning this ma o not hold the

table and drag it, always hold sping“orlower wheel box Fig 3
gds

(see fig 4a and 4b). If movin stances position the ma-
chine on a {rolley before may fig d¢h.
lllustrations Fig 2 and\E| ow the machine fitted with the optional stand.

(“ Figdb —
F )| p 11—
Ll L) =
¢ L_'_' = |
ll%‘“- - *t_ =%
»" @ . J
o

The machine should not be located in a confined space. Ensure that the working area is ad-
aquately lit. A cabinet located nearby is useful for the safe and secure storage of tools, blades
and accessories.

The maching should be iocated on a solid surface that is level and fixed using four bolts (not
supplied). Four mounting holes are provided in the base for this purpose. Ensure that the anti
corrosive coating is removed from the table and other working parts before uss.



CONNECTION OF THE ELECTRICAL SUPPLY

The machine can only be connected to a single phase supply. Before connacling the electrical
supply ensure that it is the correct voltage, phase and fraquency, and that it has sufficient
capacity for the machine. The relevant infarmation can be found on 1he rating plate located on
the rear of the machine (see fig 1).

tachines supplied lor use in the UK are fitted with a BS 1363 plug fitted with a 13amp fuse.
Ensure that you use the appropriate plug for use in other countries.
if Ihe plug fitted to the maching is changed for any reason, the wires in the mains lsad are
coloured in accordance with the following code:

Green and yellow: Earth

identilying the terminals in your plug, proceed as tollows:
The wire coloured green and yellow must be connecied 1o the terminal marked 'E’ or
earth symbol = ar coloured graen, or green and yellow

The wire colourad blue must be connecled to the tarminal marked 'N° or colo
The wire coloured brown must be connected to the {erminal markad 'L' or of

Blue: Neutral
Brown: Live
As Ihe catours of the wires in Ihe mains lead may not correspand with the coloured markingsv

i
K.

IT IS IMPORTANT THAT THE MACHINE |5 EFFECTIVELY EART

I in doubt about the connectien of the electrical suppiy cons ifigd slectrician.

@\

CONNECTION TO A DUST EXTRACTION SYSTEM

The machine is fitted with an integral dust ia tutlet located inside the base. This can
be accessed through the opening at%a re e base {see fig 1). This is designed o ag-
I

cept 38Bmm dia. flexible hose {ng lied

Simply inserl one and of the g in the port, and connect 1he other end of the hose 1o

the inlet of a suitable dust r.
To ensure effective_gx aM\ltha flexible hose must be tree of obsiructions.
For etfgetive axy he recommendead air flow spaed is 20 1o 25 mis

For fughar informaiinn on the use of dust extraction equipment contact the arganisation from
which the\lnadhine was purchased.

0



SETTING AND OPERATING INSTRUCTIONS

BEFORE ANY ADJUSTMENTS ARE MADE TO THE MACHINE, ENSURE THAT IT 1S
DISCONNECTED FROM THE ELECTRICAL SUPPLY

ADJUSTING TABLE TILT ANGLE

The table can be tilted up to 45¢. To tilt the table slacken the trunnion
nut using the spanner provided (see tig 6). Till the table to the desired
angle and the align pointer with protractor scale. Ensure the trunnign
nut is securely tightened before using the machine.

When sawing with the 1able filled ensure the work is adequately sup-
ported by using, for example, the rip fance or the oplional mitre gauge.

ADJUSTING BLADE GUARDS

The upper and lowear blade guards are fully adjustable. They should
be adjusted to leave the minimum amount of blade exposed. i

| T
The upper blade guard can be adjusted by slackening the locking han :
die and sliding the guard assembly up or down to the desired
(see fig 7). Ensure the locking handle is securely tighte r
sawing commences. -

S —— =

The lower blade guard can be adjusted when thatable, is tifted by re-
sition {see fig Fig 7

8}). Ensure the locking nut is securely tight

leasing the retaining nut and adjusting to the re ;
OFE sawing com-

ADJUSTING THE BANDWHEEL BRUSH

For effactive sawing it is important to ensure the lower bandwhesl is
kept free from dust and waste material. A bandwheel brush located
near the top of the lower bandwheel is provided for this purpose. To
adjust slacken the retaining nut and slide the brush toward the
bhandwheel whilst applying light pressure {approximately 1 kg) then
tighten the retaining nut (see fig 9). Prior to operating the maching
ansure that all fasteners are securely tightened. Replace the brush
when the length of the bristles is less than 8mm. .

Fig 8



SETTING AND OPERATING INSTRUCTIONS (Continued}
REPLACING THE TABLE INSERT

A plaslic insert is fitted in the table {ses fig 1} to ensure that the blads s
not damaged should contact be made. When replacing the insart en-
sure that the siot is aligned with the siot in the table and that the top
surface ¢l the insert is tiush with |he table surtace.

FITTING THE BLADE

To remave the blade open both bandwheel doors, remove the upper
guard by slackening tha reiaining screw (see fig 10a), remove the lower
blade guard by siackaning the retaining nut (see lig 10b), and ramove
Ihe tence rail by slackening the tour retaining screws localed bengaih
Ihe frant edge of tha 1able (see fig 10c).

Relzase the blade tension by rolating the blade tension adjuster {ses
lig 1). Carelully lift the blade Irom the upper and lower handwheels and
slide it through the table slot and from under the fixed guard attached

1o the spine_
\ '
fer

Whilst tensioning the blade it may be neces t the blade
tracking 1o ensure the blads runs centrally en t eels. Adjusi-
ment of iracking and tension is described

When raplacing the blade pasition it centrally an the bandwheel
suring it is not snagging an the fixed guard attached to the spi
table slel. Also ensure it is posilioned belween the upper
blade guigdes.

Hawving adjusted the blads tracki
lower guards and lence rail
curaly fastened. To ensuré\o

the rip fence should b\l

ticrn af the fence

BLADE TENSIO JUSTMENT
Blade tension 1 adjusted by rotating the blade tension adjuster (ses tig
{R. Hotate’the adjuster clockwise to increase blade tension and anti
C

lenkion replace the upper and
t all retaining screws are se-
mcutting performance and bisde life Fig 10¢
the table slat by adjusting the posi- gy, -

kwi€e to decrease blade tension (see fig 11).
B ADE TENSION INDICATION Fig 11

Blade tension is shown by the blade tension indicalor (see fig 12). The
correct tension is dependent on the blade, material being sawn and the
materiat thickness. More information is given in the section on blade
selection latar in this handbook {see table 2).

10



SETTING AND OPERATION INSTRUCTIONS (Continued)

BLADE TRACKING

It is important that the blade runs cantrally on the bandwheels (see fig 13). To ansure this it may
be necessary to adjust the blade tracking. This is done by releasing 1he lock nut securing the
tracking adjusier located on the rear of the machine. When correctly adjusted secure the ad-
justar by tastening the lock nul.

After replacing a blade or adjusting the tracking it is important 1o ensure the upper and lower

blade guides are corracily set. The adjustrment of these is described below.
\%
|

Blade runs centrally Blade runs toward Blade rins fows
on bandwheal fron{ of bandwhea! rear of bandw!

e =
J x 0P %

Fig !
BLADE GUIDE ADJUSTMENT
The upper and lower blad ide m incorporates lateral guidance and back edge support. It
is important that blade §i e set 1o provide the maximum support for the blade (see hg 14).
axa'n% insufficient tnsufficiemt Thrust rod |
suppon support for support for tlefleciing
or' blade blade from biade from blade
blade girde thrust rod
%0 0% || &.25 mm
| ,
= 4 IE

77 I

N7 X X

Fig 14 ‘

X

11



SETTING AND OPERATING INSTRUCTIONS (Continued)

The lateral guides are adjusted by loosening the retaining nuts and positioning them so that they
just clear the gullel of the blade teeth and there is a gap of between 0.05mm and 0.10mm
between the blade and the guide. The carbide tipped thrust support is adjusted by loosening the
retaining screw and positioning the carbide tip to provide a gap of 0.25mm between the back
edge of the blade and the end of the thrust support (see fig 15).

The height of the upper blage guide is fully adjustable. N should be adjusted o leave the mini-
mum amount of blade exposed. The height of the upper blade guide can be adjusied by slack-
ening the locking handle and sliding the guide assembly up or down to the desired position (see
fig 7). Ensure the locking handle is securely tightened before the machine is swilched on.

After adjustment ensurs that all retaining screws and nuis are securely tightened before operat-
ing the maching.

for blade from blade guide

)8
N/ % @ \
o
N 0. Ofo mm % % _/\{
|| _ot0mm @
ADJUSTMENT OF RIP FENCE %
A revarsible triple height rip b vided to enable safe and accurale sawing of all thick-
nesses of material.
The fence asse c located on sither side of the blade by
slackening the f mp knob and relocating the fance assembly
on the fenge guid (see fig 18).
Ensur fen¢e clamp knob is securaly fastened before sawing.
o

bly%rom the fence guide rail (see fig 16) then remove the three
enge screws to separate the fence clamp and fence body (fig 17). \
Atter reversing the fence body, replace and tighten the fence screws
before repositioning the fence assembly on the fence guide rail. Fig 16

Wrse he fence slacken the fence clamp knob to remove the as-
s
f

To align the fence, position the fence near the slot in the table and
tighten the clamp knob.

Slacken the four guide rail retaining screws located under the table and
adjust the fence/rail assembly so that it is parallel with the table slot.
Firmly re-lighten the four gulde rail screws.

Ensure that the fence clamp knob is securely fastened before sawing.

12

Maximum Insufficient Guide v
support support for blade deﬂec@

<9



SETTING AND OPERATING INSTRUCTIONS (Continued)

USING THE DEPTH STCP (OPTIONAL)

The depth stop can be used in conjunction with the rip fence to assist in
the production of tenons. The depth stop is attached to the rear edge
of the table by passing the fixing screw through the slot and retainer,
then fastening the retaining screw. The position of 1he stop is adjusted
by slackening the locking screw located in the top of the retainer (see
fig 18).

Ensure that all screws are securely tighlened before use.
USING THE MITRE GAUGE (OPTIONAL)

The mitre gauge is used to produce simple or compound angle cuts.
After setting the angle of cut by slackening the locking screw located
the mitre gauge in the slot in the table. When cutting ensure the work
piece is securely held onto the face of the mitre gauge. Compound
angles can be cut by tilting the 1able (see fig 19).

Ensure that all screws are securaly tightened bafore use.

USING THE CIRCLE CUTTING ATTACHMENT (OPTION ;%
brack aled to

Having sized
mark ithe centre.

The circle cutting attachment is fixed to the mountin
tha right of the upper blade guide assembly {se
the blank workpisce to be square and a litt| :
it is important that the cenire of the circigls | ith the front edge of
the blade. This is achieved by marking t nce wilh the position of ‘
the front edge of the blade, m it 16 the right of the blade by a

le'being cul, and positioning the
a cut parallel to one side of the

klank until the blade rea circlg, stop the machine and lower the
pointer by lowering sembly and 1ap ihe pointer info the work

piece. Finally% cut to produce a circular blank. Fig 20

eners are securely tightened before operating ma-

distance equal to the radius
pointer over the mark. Hawi

Ensurethat al

chi
o
STAQTI G AND SAWING
star
nsure that all guards are correctly adjusted and securely tixed, and

that the fence is correctly positioned and secure.

The blade is set in molion by pressing the green start buiton localed on
the front of the machine (see fig 21).

Feed the work piece with even and moderate pressure. If the feed
pressure is too graat cutting will be inaccurate and the blade will wear
prematurely.

stop

To avoid contact with the blade use a push slick lo guide work past the
blade. Fig 21

13



SETTING AND OPERATING INSTRUCTIONS (Continued)
STOPPING

The saw blade is siopped by depressing the red stop butlon marked "0 located below the start
contrel on the front of the maching (see fig 21).

MAINTENANCE

The freguency ol maintenance 15 dependent on lhe lrequency of use and the nature of the work
undertaken. It is recommended that the following maintenance schedule is undertaken at least
manthly 1o ensure irouble free operation. Ensure that the alectrical supply is disconnected from «

the machine and that it has come to rest betore undertaking any maintanance.

Remove swarf, chips and dust from bandwhesl tyres. Check for wear and replac v
bandwheels i necessary. %

Adjus| bandwheel brush to ensure efective bandwhes! cleaning.

Clean dust trom insida ol bandwheeal boxes and snsure dust exira is frea from

obstructions.

Clean and check upper and lowar guide assamblies f glearance and alignment.

Replace if warn.
Clean and iubricale adjusting screws with i t‘“'na ail
Bandwheel hubs are mounled on seaied pie luby d maintenance frae bearings.

iulyirained engineers contact STARTRITE CUSTOMER
ich1the machine was purchased. Wa can also supply

Faor genuing spare parts and sarvig
SUPPORT or the organisation
blades for any application.

14



o

BLADE AND TENSION SELECTION

An understanding of the design and application of the various types of saw blades is important
to snable the most effective use of your bandsaw. Table 1 provides recommendations on
sgiacting the correct blade tor a variety of comonly used materials.

SELECTION CF TOOTH PITCH
The selechon of the best toath pitch (sea tig 22)

is necegsary for the optimum cutting perferm-
ance. As the looth pitch becomes finer a blade

will have maors teeth. Corract 1oath pitch is pri- | Tooth T incH Guffed Set
marily dependenl on two factors: material lhick- 6 dnun ‘l / —"] |""_ «

ness and material hardnsss. For a given mate- i
rial thickness a tiner tooth pilch should be se- Wictth H |
lacted as material hardness increases. How- t

ever, when the tooth pitch is loo small for a given v
hardness the 10oth loading will be insulficient lo | Teeth per inch = Number of @ e frch |
enable penetration and culling and the teeth will

rapidly lose lheir sharpness. A smaller toolh
pilch should also decrease as matanal thickness >

: = !
dacraases. The accompanying blade selgction %

chart (table 1) gives guidance on the tooih pitch

that should give the bast rasults whan culting a

variaty of material types and thicknasses.

SELECTION OF TOCTH FORM @

There are thrae most commonly specifigd t s: regular taoth, skip 10oth and hook tooth.
Each will provide furlher improvemsnt | tng efficiency depending on the material being cul

{see tig's 23a, 23b and 23¢c}. %d slettion chart (table 1} includes recommendations on
)

ihe choice ol suitable tooth f

Reguiar Tooth Blades

These are the t only used blades for wood and metal culting. |

The zera fron d rounded gullets provide robust testh with good | M
shock_esisia al are capable of good waork penetration that will
pro a good finish when used to cut mest medium hardness maleri-
als. Thire & lendency to clog when ussd with soft or duciile materials. Fig 23a
Stan(:):lar pitches are 6, 8, 10, 14, 18 and 24 tasth per inch. Regular Tooth

kip Tooth Blades (fig 23b}

The toath form is simiar to the regular tooih form buil ahiernate teeth are

omitted. This allows greater gullei capacity without signiticantly affect- [ }
ing blade sirengih. These blades are suiled for use with soft alloys or
when making deep cuts in hard or wet woad, or man made malerials
Ihal contain abrasive bonding agents {e.g. chipboard). For such appli-
cations best resuils can usually be achieved by sslecling the low cut- | Fig 23b
ling speed. Standard pitches are 3, 4 and 6 teeth per inch. | Skip Tooth




BLADE AND TENSION SELECTION (continued)

Hook Tooth Blades (lig 23¢)

Compared to the regular tooth farm the hook 1ooth has a pesitive fronl [

rake which provides grealer work penstration capability. This makes L Wﬂ[
such blades suitable for use when culting harder materials. In addition
the coarse pitch and large gullets associated with this 1ooth lorm make
il suitable for suilable tor sawing deep sections. Use with abrasive
materials is not recommended. Standard pilches are 2, 3, 4 and 6
teeih per inch.

Fig 23c
Hoak Tooth

Other less commonly used blade torms are knife edge, scalloped edge
and wavy edge (see fig's 24a, 24b and 24c).

Knife Edge Blades

This type ol blade is suiled tor use when cutting soft materials such as
woven fabrics, sponge, rubber and corrugated cardboard.  Very lillle
swarf or dust is produced.

Scallop and Wavy Edge Btades

) i ) i - gttt ™ |
Where Ihe malerial beng cul is fibrous or difficult to sever or I }
wavy edge blades provide bettar cuiling performance. Examplgs“of
suct maierials are cork, filler material and felt. Ver wa dust
is produced. ]
Fig 24b
SELECTION OF TOOTH SET Scatiop £dge

Taoth set is the angling of the say
protruding either side of the
provides a cut that is wi
claarance enables the
are three commo
given for & varie

g/width of the blade body. This !-’V\/‘I
anoeuvred in the work piece. There
th set patterns. Recommended sel is
arial iypas and thicknesses in table 1.

Fig 24¢
Standaj a1 Wavyr Edge

0 :
eeth ars\3el alternately 1o the lefl and to Ihe right of the blade body. .
is pattern is particularly suitable for cutling soft materials and wood. Fig 25 |

Baker Sel {tig 25)
_ _ Raker Sel
Teeth are set with one 100th sel to the right, one 1o the left followed by | =
ane unsel tooth, This pattern is widely preferred and is considered
suitable for contour sawing.

Wavy Set (fig 25) Wavy Sel

|
e e i e B B, |
Groups of teath are alternatively set to the right and then to the left. As |
relatively few teelh are cutting on the kerf side of the blade there is a

iendancy for blades 1o jam when cutling abrasive matarials, - e ——




BLADE AND TENSICN SELECTION (continued)

For optimum cuiting perfermance il is importanl 1o select the correcl blade. Table 1 shows the
recommended blade for a variety ot commonly used materials. If in doubt aboul any aspect of
blade selection contact STARTRITE CUSTOMER SUPPORT or the organisalion from which the

machine was purchased tor assistance,

Table 1 Blade Salection Chart

Waterial Maierial Thicknass, t (mm)
t<B Belcl? 12125 =25

Aluminium exlrusion 18R 108 8R 685
Thermoset plastic [Bakelite) 14R 10R 6R 35
Resin bonded comp(Tutnol) 14R 10R &H
Formica 18R
Glass fibre 18R 14R 10R H%
Parspax 14R 10R
Chipboard 65 35
Fibre board 18R 14R @
Hardboard 10R
Plywood 10R ER ES a8
Strawboard 14R
Cork. 14F % 45 45
Leather 14
Rubbar BR &R
Cardboard - carrugated S sSC sC sC
Paper - sheet 6H

10R &éH
Paper - lissue SC SC sC SC
FPapier mache KN 10R
Wood - fog L
Wood - soft cs BS 45 45
Wood - hard b ES 35 35 as
Wood - wet @\ 35

"
ke
o)

R = Rajular looth
S » Bkip tooth
= Hook looth

KN = Knife edge
5C = Scallop edge
Mumbers deanote téeth per inch



BLADE AND TENSION SELECTION (continued)

TENSION SELECTION

It is important that 1he blade is correctiy tensioned to ensure gptimum cutling performance and
cutting accuracy. Table 2 below provides guidanceg cn the appropriale tension for a variely of
blade types and sizes.

Table 2 Blade Tansion Guide

Blade Type Blade Width (mm)

3 B 12
Metal Cutting Low Low Med «
Scalloped/Knife Edge Low Low Low/ided v

BANDSAWING PRACTICE

aral 1o be sawn,
h pressure. The
aclton or a worn biade

Having selectad an appropriale blade for tha particular thicknass and typ
it is essential that the saw blade is allowed to cut freely by nol apply
need for excessive pressure is ikely to be a rasult ol the incorrect
and will resull in inaccurate cutling and possibly blade brea

too wide for the cutling radius the blade will
radius the narrower the blade has to be, Tabl
cut with |he mest commonly used blade
damags or cracking as & resull of 1atigue.

6 10 12

Minimum Hadius {mm) 10 25 40 &0

A%

Q: situations such as cutting scrolls it may not be possible to complete a cut.  This requires the
I

blade 1@ be revarsed oul of the cut. Cars is recessary to minimise damage lo the work and
b . When removing large pisces of malerial il is advisable 10 make the shorter cut last to

oid having lo reverse out of the longer cut.

Vary complicated cuts and small radius curves are besl accomplished with 1he aid ot pre-drilled
holes combined with a few tangential or radial cuts. This technigue will achiave excellent results
withoul pulling undue tersion on the blads and blade guide assembiy.

Always ensure that your machine is properlay maintained and clean.
Befare commencing work on an important propect, il is advisable to familiarise yourself with 1he
operation of the equipmeni by practising on low valug matarials.

When cutting aluminium alloys it may be necessary to apply lubricant such as paraffin or wax (o
prevent clogging of the blade.

18



COMMON SAWING PROBLEMS

PROBLEM POSSIBLE CAUSE REMEDY

Blade wanders from Excessive fead pressure Reduce iged pressure

true line Cll teeth or pitch tag line Replace blade
Blade guides not sal correclly Adust or replace upper and
Or Worn lower guides
Biade fracking incorrectly Adjust tracking

Loss of set to one side of blade  Invesligate cause and replace

Premature blade breakage Worn blade Replace blade
Joint incorrectly welded or Replace blade
annealed
Blade too wide lor curved cut Fil narrower blade v
Bandwheels worn Change bandwhael
[i

Toolh pitch too fine Fil blade with ¢

Blade bows in deep cut Excassive leed pressure
Dull teeth or pitch too fing

Insufficient blade 1gnsion
Blade too narrow tor depth o
Blade running out of line at
start of cut

Increase feed pressure
an taath  Adjust guides
Fil blade wilh coarsar pitch

Teeth dull rapidly tosufficient fe
Guidg insexs i
Biade pilc

Teeth break from blade ive leed pressurg Reduce leed pressure
0 lleys clogoing Use lubricant or change tooth
form
oth pitch too coarse Fil blade with finer tooth pitch
Material welding to teath Use lubricant
Blade twisting 2) Excessive foed pressure Reduce feed prassure
Blade guide interfering with teeth  Adjust blade guides
o Blade 0o wide tor radius of cut  Fit narrower blade
Insufficient blade tension Reduce tension
¢ Incorrect fracking Adjust tracking
] lL.oss of set 1o one side of blade  Investigale cause and rectify
Blade vibrales Workpiace not secured or Secure or ¢lear obstruction
properly seated
Tooth pilch too coarse Fit blads with fingr pitch
Insulficient blade tension Increase blade 1ension

Blade not adequately supported  Adjust thrust pad
by thrust pad




WIRING DIAGRAM

L = Ly = OTOR
: : - a ] Ml.,:‘[u_]ﬁ
| | PE I | [

SIMGLE F=atz

FE &) e X
STALED "TAMFER-PROOF" m::aucT:DN\n—/r/ @

NO wOLT RELEAZE SWITCH KMOTOR

RCD {Residual Curreni Device) v
For your additional safaty we always recommend the use ot an RCD (someatime I
sidual Current Cirguit Breaker or Earth Leakage Circuit Breaker). @

20



PARTS LIST

UPPER BANDWHEEL BOX, BLADE GUIDE AND GUARD, AND TABLE

Itam Part No.
1 BO5922
2 BOS777
&) BOA0O03
4 BO5930
5 BO5059
& BO2047
7 8705
8 10162
g 101632
10 SM1423
" SM2241
12 SM5B5/A
13 CLEL
14 SM2B51
15 CXUW
16 smzas2
17 Sh1434
18 4859
19 BO5EZ1
20 BO5715
21 BO5917
2e 1102
23 4855
24 4889/C
25 4919
26 BO5792
27 BO5923
28 CXSW
29 5352/B
30 5496
a 5704
az 8706
33 7353
34 BOS913
a5 6766
g BO2208
a7 CLKM
as BO5566
38 BO 1
40 20
41 05208
BO52083
BO5944
4 5753
45 BOSOES
4 BOBQ
47 BOS0O1E
48 BO7782
45 10373
50 10374
51 BO5713
he BO5929
53 BOS713
54 CXFB

Descriplion

M16 washer

M16& lock nut

Circlip

M8 star washer

M5 x 10 long haxagon sockal cap screw
Bearing

Pivol pin

Bandwheel hub spindle
Bandwhesl hub
Tracking channal
Tensigning assembly mounting
Upper thrust rod
Clamping handlg
Upper guard

Uppar door

Table

Guiga bracket

Blade guits

tEB = 30 long ¢oasch bol
M8 nut

M8 washer

Bandwhaeal

Guida block

Guide post

Washer

M8 insart

M20 washar

Start/atop swich

Stud K%

(Guard ratainar
Tonsipn sted
Tracking lockmg K
Fenca rail
MS washe
Tabla r
ing
and b
long hexagon head screw

12 long hexagon head screw
¥ 25 fong coach bolt

W& x 30 long hexagon scckat set screw
M8 x 20 long hexagon socket set scraw
M8 spring washer
M8 lock nut
MG x 25 long hexagon sockat cap screw
ME screw ratamnar
2BA x 60lgHex socket set scraw
Pwot bush
Tension plale
Tenswon indicator
M5 nut
M5 star washer
M5 x 16 long hexagon head screw
Plastic ¢cap

el

Quantity

P

UPPER BANDWHEEL BOX, BLADE GUIDE AND GUARD, AND TABLE

AAMZ—I .k b A ok kv o D) A ) es s

w0 n

S N X B I I % R e e e I

R

¥



PARTS LIST (continued)

UYPPER BANDWHEEL BOX, BLADE GUIDE AND GUARD, AND TAELE

2



PARTS LIST (continued)

LOWER BANDWHEEL BOX, BLADE GUIDE AND GUARD, AND MOTCOR MOUNTING

g
3

Do~ DU b LR —

Parl No.

CXBH
1102
BO&Q1T
BO5560
BO5815
CXMR
BO5715
BO5564
BO5574
BOS5930
BOS715
BO&717
BO&(ES
BOS5564
2270
BO5566
BOBRO
BOBET
CXLW
BO5753
BOSTIY
BO5921
BO5841
4884
4885
4880
BOS07%
4911
SM585/B
10507
4921
4838
BO3552
BRO5915
2812
4888
BO5923
SMgZa:8

BOSgE2 ©
4919
4801

48
BOS785
ABPS
5056
BOB483

Desacription

Bandwheal hub

Bandwheal

M8 washer

ME x 12 long hexagan head scraw

M6 x 12 long hexagon sockel sal scraw

Motor

M8 nut

M8 x 30 long hexagon head scraw
M1Q x 20 long haxagon head screw
MB star washer

MB ntsl

8 washear

tA6 x 25 long haxgon ¢cap screw
M8 x 50 long hexagon head screw
Wheel brush

M8 x 40 lang hexagon head scraw
ME scraw relaingr

Drive screw No.d x 174" long
Lower door

M8 Iock nut

M12 nut

M12 washer

M12 x B0 long stud

M8 x 25 long hexagon socket
Tabie clamp

Lowar thrust knob

Cular lower guar

Prolractor pla

Table brackel

XRgon head screw

Ma = 30 long coach bolt
Mg x 45 long coach bolt
Washear

Blade guide

Inner lower guard

M8 wing nul

Pushstick

Spanner

Smm allen key

Tilt plate
Spacar
Boltom guids haldear
Schaw

24

Quanlity

"

z;_._.. _._;_;;hhﬁm_‘_‘;_‘;__-.-.-

a P —t —a i B b b ol ok P = ol ok b o 3 omh oaa B 0D MO L) — — N

S

¥



PARTS LIST (continued)

LOWER BANDWHEEL BOX, BLADE GUIDE AND GUARD, AND MOTOR MOUNTING

25



PARTS LIST {¢ontinued}

RIP FENCE ASSEMBLY SM3116

Item Part No. Description Quantily

1 CHFR Rip lence 1

2 BO5560 48 x 12 long hexagon head scraw g

3 BOB917 M8 washer 4 ?

4 BOS5g44 M8 spring washar 3

5 CXCA Clamp assembly 1 a

6 CXKN Clamp knob 1 i
7 CXPP Prassure platg 1

ltem Parl No. ription Cuantity

47 Clamping block
g 0 Back stop rod
BO5826 M8 x 10 long wing screw
¢ BOSs21 t18 x 30 long coach bolt
BOS5785 M8 wing nut
O BOsSg17 M& washar

P 3 R
SN e N T

26



OPTIONAL EQUIPMENT {continued)

MITRE GAUGE ASSEMBLY SM1432

Item Part No.

1
2
3
4
5]

Item Part No.

h & o ha -

21t
126
G749
9731
G234

BOS715
4219
6746
6744
6745

S

Description Quantity

Guide stnp

Thumb screw

Back slop rod {suppted with deplh siop assembly SM1436)
Protractar

Thumb scraw

L

CIRCLE CUTTING ATTACHMENT SM1437 @
Description Quantity

M8 nut

Washar
Clamping slggv
Centre
ClaFm I

£, S o

L
2T



	RS1 1.pdf
	RS1 3.pdf
	RS1 4.pdf
	RS1 5.pdf
	RS1 6.pdf
	RS1 7.pdf
	RS1 8.pdf
	RS1 9.pdf
	RS1 10.pdf
	RS1 11.pdf
	RS1 12.pdf
	RS1 13.pdf
	RS1 14.pdf
	RS1 15.pdf
	RS1 16.pdf
	RS1 17.pdf
	RS1 18.pdf
	RS1 19.pdf
	RS1 20.pdf
	RS1 22.pdf
	RS1 23.pdf
	RS1 24.pdf
	RS1 25.pdf
	RS1 26.pdf
	RS1 27.pdf

